64790

BeHm. mpy6ui

1700., 3000

, 3000 ., 3000 3000 ., 3000 r
f =

o H 55084299 g
g | |22 z 3200
< =
o alla = 800
g |79 g 200 g
A 1900l 3 1 L g
o
~
0
Jl |||
I
7
Xogobne mpann
BemoHHbe BeHm. mpyBui
nnockocmu

SuepgauHozo nepekpamus =S 06w, yepgaka—SBeHm. mpy6.—Skupnuu. cmeH—Snogbesgob—S 6emoHHbX naockocmel=942.7—19.4—24.8—70.16—23.17=805.17M

Sobuw, uepgaka=64.790*14.55=942.7 M
Sbenm. mpy6=2.8+1.9+2.3+2.3+2.4+3.1+2.3+2.3=19.4M
Skupnuu cmer=16*(3.1*0.5)=24.8 M

Snogbesgob= 34.47+32.69=70.16 M

SBemoHHbix nnockocmeti=(0,55%((2,1+0,99) /2))*2+(1,9*0,99)+(0,55*%((2,1+0,55) /2))*2+
(0,55%1,9)+(((2,1+0,5) /2)*0,55)*2+(0,55%1,9)+(0,5%1,15)+(0,55*((2,1+0,5) /2))+(1,1*0,5)+(1,1¥1,1)+(0,5*%0,79)+(0,5*1,15)+5%(0,55*((0,5+2,1) /2))+(1,9*0,5) +
(0,5%1,1)+(1,1*1,1)+(0,5*%0,79)+(1,9*0,5)+(0,9*((2,1+0,5) /2))*2+1,1*1,1=23.17 M

LmpanoB= 56.96+19+2.8+2.8+2.8+3.2=87.56 m.n.
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